
Osnovi elektronike – Odsek SI  Prvi kolokvijum - 2021/2022. 
 

 

REŠENJA 

 
 
1. a) OUT OUT OUT OUTU U U U′ ′′ ′′′= + + , 

( )1 20, 0, 0OUT OUT G G GU U I U U′ = ≠ = = , 

( )1 20, 0, 0OUT OUT G G GU U I U U′′ = = ≠ = , 

( )1 20, 0, 0OUT OUT G G GU U I U U′′′ = = = ≠ , 
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2 4OUT G G GU R I U U= ⋅ + + . 

b) 2
1 2

1 1
6

2 4GI G G G G GP R I U I U I= ⋅ + ⋅ + ⋅ . 

 
 

2. 4EKVR R= . 
 
 

3. a) ( )1 4 4 VU j= − − . 

b) 2

1 3
A

2 2
I j

 
= −  
 

. 

c) ( ) ( )3 2 5V cos 2 108.43u t ftπ= ⋅ + ° . 

d) ( ) ( )4 26A cos 33.69i t tω= ⋅ + ° . 

 
 
4. a) 1 400µAI = . 

b) 4.8mW
GUP = − . 

c) 128mW
GIP = . 

 
 
5. a) 2VTU = , 1TR = Ω . 
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b) 400mAXI = − . 

c) 640mWXP = . 

 
 


